017 | Add and Subtract Decimals Up to 10

Name:

|£J
Choose the best answer

Anthony has 6.2 feet of licorice he
wants to share with his friend . After
Anthony gives away 4.3 feet of licorice,
how much licorice does he have left?

1.3 2.5

1.9 2.2

|£J
A carpenter bought a piece of

wood that was 5.3 meters

long. Then she sawed 1.9
meters off the end. How long

is the piece of wood now?

meters

|£J
A caterpillar eats 0.3 leaves in

the morning and 4.5 leaves in
the evening. How many
leaves did the caterpillar eat
that day?

leaves
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Name:

@
Choose the best answer

A pumpkin grows 0.6 pounds in July

and 2.2 pounds in August. How many

pounds did the pumpkin grow in July
and August combined?

3.3 2.4

2.8 2.7

(]
A coconut tree grows a 5.6 ounce
coconut. A hungry monkey eats
4.6 ounces of the coconut, how
much of the coconut remains
after the monkey has had his fill?

ounces

|ﬁJ
Choose the best answer

Ashley is wrapping a present for her friend. She has
2.3 feet of ribbon and she needs 0.8 feet for the
present. How much ribbon does Ashley have left
after she is finished wrapping?

1.7 1.2

1.5 1.4
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#7)

A carpenter bought a piece of
wood that was 2.5 meters
long. Then she sawed 0.6

meters off the end. How long
is the piece of wood now?

meters

|4

A florist prepares a bouquet of flowers
with stems that are 4.6 inches long by
cutting off 3.9 inches of stem from
each flower. How long are the flowers
after they have been trimmed?

inches

|ﬁJ
At the national park in Alberta,

Canada there were 2 |bs of bear scat
spotted by hikers. Upon investigation
the park rangers found 2.5 Ibs more!
How many lbs of bear scat did they
find in the park?

Ibs
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Name:

#10

Choose the best answer

A farmer has 4.1 pounds of hay to feed his
horse each day. The horse eats 0.8 pounds of
hay on the first day. How many pounds of hay

does the farmer have left?

3.7 2.8

3.3 3.1

#11

Choose the best answer

After autumn harvest, a farmer has collected 7.2
pounds of apples from one of her apple trees. After
checking the apples she discovers that 4.8 pounds of
apples are rotten. How many pounds of good apples
did the farmer pick from the tree?

3 1.7

2.4 2.9

#12

A cat's hair grows 0.8 inches in the
the spring and 2.4 inches in the
summer. How much did the cat's
hair grow over spring and
summer combined?

inches
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017 | Add and Subtract Decimals Up to 10 Answer Key
Question Answer
#1 1.9
#2 3.4
#3 48
#4 2.8
#5 1
#6 15
#7 19
48 0.7
#9 45
#10 3.3
#11 2.4
#12 3.2
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